ARIZONA DEPARTMENT OF TRANSPORTATION INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025011

TRACS No.		S No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
303	MA 112	F074201C	303-A-(233)T	104499	MARICOPA	CENTRAL	27		Brandon Campbell
010	MA 120	F074501C	010-B-(224)T	104497	MARICOPA	CENTRAL	13		Brandon Campbell

Highway Termini	Location	Work Description
• BOB STUMP MEMORIAL PARKWAY (SR 303L)	Peoria to Sonoran Desert Parkw	•CONVERT HPS TO LED LIGHTING
• EHRENBERG - PHOENIX HIGHWAY (I-10)	Verrado Way to 99th Ave	•CONVERT HPS TO LED LIGHTING

Printed: 9/23/2025 Page 1 of 5

BID RESULTS FOR 2025011

Bid Opening Date: 8/1/2025, Prequalification Required, Engineer Specialist: Brandon Campbell

Completion Date:

250 Calendar Days

O - --- - - - - - T-

The proposed project 303 MA 112 F0742 01C is located in Maricopa County on SR303L between mileposts 112.0 and 139.0. The work consists of replacing existing High Pressure Sodium (HPS) luminaires with Light Emitting Diode (LED) luminaires. Additional work shall include removing existing light poles at locations shown on the plans. The proposed project 010 MA 120 F0745 01C is located in Maricopa County on Interstate 10 (I10) Papago between Verrado Way at milepost (MP) 120.0 to 99th Avenue at MP 133.5. The work consists of replacing existing High Pressure Sodium (HPS) luminaires with Light Emitting Diode (LED) luminaires. Additional work shall include removing existing light poles at locations shown on the plans.

Bid Rank	Compared 1 Departmen Estimat		Bid Amount	Contractor	Extended Sum of Items
	+%	,	\$2,953,330.00	DEPARTMENT ESTIMATE	\$2,953,330.00
1	-26.6%		\$2,169,000.00	C S CONSTRUCTION, INC. 22023 N 20TH AVE SUITE A PHOENIX, AZ 85027-	\$2,169,000.00
2	-24.7%		\$2,223,499.00	CONTRACTORS WEST, INC. 1830 W. BROADWAY RD. MESA, AZ 85202-1125	\$2,223,499.00
3	-23.7%		\$2,253,910.00	MICHIANA CONTRACTING, INC. 7843 LILAC ROAD PLYMOUTH, IN 46563-	\$2,253,910.00
4	-17.1%		\$2,447,195.15	WILLIAM CHARLES CONSTRUCTION COMPANY, LLC 8767 E. VIA DE VENTRUA, SUITE 300 SCOTTSDALE, AZ 85258-	\$2,447,195.15
	NON	RESPON	SIVE	PowerSecure, Inc.	\$0.00
Surety (E	Bid) Bond not	submitted	t	4068 Slinup Creek Drive Durham, NC 27703-	

Winning Bidder is 26.6% Under Department Estimate (Difference = (\$784,330.00))

Printed: 9/23/2025 Page 2 of 5 *** Bid Tabs for Proposal Pamphlet 2025011 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020053	EACH	REMOVE (EXISTING LIGHT POLE)				
Bid Rank	Department	Estimate	19.000	\$1,500.000	\$28,500.00	
1	C S CONST	RUCTION, INC.		\$800.000	\$15,200.00	-46.7%
2	CONTRACT	TORS WEST, INC.		\$1,409.000	\$26,771.00	-6.1%
3	MICHIANA	CONTRACTING, INC.		\$900.000	\$17,100.00	-40.0%
4	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC	;	\$770.000	\$14,630.00	-48.7%
5	PowerSecui	re, Inc.		\$0.000	\$0.00	-100.0%
7010005	L.SUM	MAINTENANCE AND PROTECTION OF	TRAFFIC			
Bid Rank	Department	Estimate	1.000	\$195,000.000	\$195,000.00	
1	C S CONST	RUCTION, INC.		\$202,000.000	\$202,000.00	+3.6%
2	CONTRACT	TORS WEST, INC.		\$361,000.000	\$361,000.00	+85.1%
3	MICHIANA	CONTRACTING, INC.		\$225,000.000	\$225,000.00	+15.4%
4	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC	;	\$412,852.000	\$412,852.00	+111.7%
5	PowerSecui	re, Inc.		\$0.000	\$0.00	-100.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department	Estimate	172.000	\$1,800.000	\$309,600.00	
1	C S CONST	RUCTION, INC.		\$900.000	\$154,800.00	-50.0%
2	CONTRACT	TORS WEST, INC.		\$525.000	\$90,300.00	-70.8%
3	MICHIANA	CONTRACTING, INC.		\$1,000.000	\$172,000.00	-44.4%
4	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC	;	\$840.500	\$144,566.00	-53.3%
5	PowerSecui	re, Inc.		\$0.000	\$0.00	-100.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CO	NTRACTOR FURI	NISHED)		
Bid Rank	Department	Estimate	308.000	\$200.000	\$61,600.00	
1	C S CONST	RUCTION, INC.		\$45.000	\$13,860.00	- 77.5%
2	CONTRACT	TORS WEST, INC.		\$120.000	\$36,960.00	-40.0%
3	MICHIANA	CONTRACTING, INC.		\$50.000	\$15,400.00	-75.0%
4	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC	;	\$65.400	\$20,143.20	-67.3%
5	PowerSecui	re, Inc.		\$0.000	\$0.00	-100.0%
7016081	HOUR	FLAGGING SERVICES (DPS)				
Bid Rank	Department	Estimate	1,544.000	\$120.000	\$185,280.00	
1	C S CONST	RUCTION, INC.		\$110.000	\$169,840.00	-8.3%
2	CONTRACT	TORS WEST, INC.		\$118.000	\$182,192.00	-1.7%
3	MICHIANA (CONTRACTING, INC.		\$110.000	\$169,840.00	-8.3%
4	WILLIAM C	HARLES CONSTRUCTION COMPANY, LLC	;	\$89.600	\$138,342.40	-25.3%
5	PowerSecui	re, Inc.		\$0.000	\$0.00	-100.0%
7360104	EACH	LUMINAIRE (LED, HORIZONTAL MOUN	T, 15L)			<u> </u>
Bid Rank	Department	Estimate	109.000	\$800.000	\$87,200.00	
1	C S CONST	RUCTION, INC.		\$590.000	\$64,310.00	-26.3%
2		TORS WEST, INC.		\$598.000	\$65,182.00	-25.3%

Printed: 9/23/2025 Page 3 of 5 *** Bid Tabs for Proposal Pamphlet 2025011 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7360104	EACH	LUMINAIRE (LED, HORIZONTAL	MOUNT, 15L)			
Bid Rank	Department	Estimate	109.000	\$800.000	\$87,200.00	
3	MICHIANA	CONTRACTING, INC.		\$750.000	\$81,750.00	-6.3%
4	WILLIAM C	HARLES CONSTRUCTION COMPAI	NY, LLC	\$803.000	\$87,527.00	+0.4%
5	PowerSecu	re, Inc.		\$0.000	\$0.00	-100.0%
7360105	EACH	LUMINAIRE (LED, HORIZONTAL	MOUNT, 25L)			
Bid Rank	Department	Estimate	149.000	\$850.000	\$126,650.00	
1	C S CONS	TRUCTION, INC.		\$705.000	\$105,045.00	-17.1%
2	CONTRAC [*]	TORS WEST, INC.		\$753.000	\$112,197.00	-11.4%
3	MICHIANA	CONTRACTING, INC.		\$900.000	\$134,100.00	+5.9%
4	WILLIAM C	HARLES CONSTRUCTION COMPAI	NY, LLC	\$921.000	\$137,229.00	+8.4%
5	PowerSecu	re, Inc.		\$0.000	\$0.00	-100.0%
7360110	EACH	LUMINAIRE (LED, HORIZONTAL	MOUNT, 40L)			
Bid Rank	Department	: Estimate	208.000	\$950.000	\$197,600.00	
1	C S CONST	TRUCTION, INC.		\$735.000	\$152,880.00	-22.6%
2	CONTRAC	TORS WEST, INC.		\$778.000	\$161,824.00	-18.1%
3	MICHIANA	CONTRACTING, INC.		\$800.000	\$166,400.00	-15.8%
4	WILLIAM C	HARLES CONSTRUCTION COMPAI	NY, LLC	\$915.000	\$190,320.00	-3.7%
5	PowerSecu	re, Inc.		\$0.000	\$0.00	-100.0%
7360111	EACH	LUMINAIRE (LED, VERTICAL MO	DUNT, 25L)			
Bid Rank	Department	Estimate	6.000	\$1,500.000	\$9,000.00	
1	C S CONST	TRUCTION, INC.		\$825.000	\$4,950.00	-45.0%
2	CONTRAC [*]	TORS WEST, INC.		\$869.000	\$5,214.00	-42.1%
3	MICHIANA	CONTRACTING, INC.		\$900.000	\$5,400.00	-40.0%
4	WILLIAM C	HARLES CONSTRUCTION COMPAI	NY, LLC	\$1,073.000	\$6,438.00	-28.5%
5	PowerSecu	re, Inc.		\$0.000	\$0.00	-100.0%
7360112	EACH	LUMINAIRE (LED, VERTICAL MO	DUNT, 40L)			
Bid Rank	Department	Estimate	34.000	\$1,700.000	\$57,800.00	
1	C S CONST	TRUCTION, INC.		\$860.000	\$29,240.00	-49.4%
2	CONTRAC	TORS WEST, INC.		\$896.000	\$30,464.00	-47.3%
3	MICHIANA	CONTRACTING, INC.		\$925.000	\$31,450.00	-45.6%
4	WILLIAM C	HARLES CONSTRUCTION COMPAI	NY, LLC	\$1,102.000	\$37,468.00	-35.2%
5	PowerSecu	re, Inc.		\$0.000	\$0.00	-100.0%
7360113	EACH	LUMINAIRE (LED, HIGH MAST)	(40K-60K LUMEN)			
Bid Rank	Department	Estimate	212.000	\$2,000.000	\$424,000.00	
1	•	TRUCTION, INC.		\$1,235.000	\$261,820.00	-38.3%
2		TORS WEST, INC.		\$1,244.000	\$263,728.00	-37.8%
3		CONTRACTING, INC.		\$1,500.000	\$318,000.00	-25.0%
4		HARLES CONSTRUCTION COMPA	NY, LLC	\$1,630.000	\$345,560.00	-18.5%

Printed: 9/23/2025 Page 4 of 5 *** Bid Tabs for Proposal Pamphlet 2025011 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7360113	EACH	LUMINAIRE (LED, HIGH MAST) (40K-60	K LUMEN)			
Bid Rank	Department E	Estimate	212.000	\$2,000.000	\$424,000.00	
5	PowerSecure	, Inc.		\$0.000	\$0.00	-100.0%
7360114	EACH	LUMINAIRE ((LED, HIGH MAST, (70-90)	(LUMEN)			
Bid Rank	Department E	Estimate	98.000	\$2,200.000	\$215,600.00	
1	C S CONSTR	RUCTION, INC.		\$1,450.000	\$142,100.00	-34.1%
2	CONTRACTO	DRS WEST, INC.		\$1,449.000	\$142,002.00	-34.1%
3	MICHIANA C	ONTRACTING, INC.		\$1,700.000	\$166,600.00	-22.7%
4	WILLIAM CH	ARLES CONSTRUCTION COMPANY, LLC	;	\$2,139.000	\$209,622.00	-2.8%
5	PowerSecure	, Inc.		\$0.000	\$0.00	-100.0%
7360115	EACH	LUMINAIRE (LED, HIGH MAST) (100K-1	20K LUMEN)			
Bid Rank	Department E	Estimate	152.000	\$3,000.000	\$456,000.00	
1	C S CONSTR	RUCTION, INC.		\$1,490.000	\$226,480.00	-50.3%
2	CONTRACTO	DRS WEST, INC.		\$1,493.000	\$226,936.00	-50.2%
3	MICHIANA C	ONTRACTING, INC.		\$1,750.000	\$266,000.00	-41.7%
4	WILLIAM CH	ARLES CONSTRUCTION COMPANY, LLC	;	\$2,183.000	\$331,816.00	-27.2%
5	PowerSecure	, Inc.		\$0.000	\$0.00	-100.0%
7370301	EACH	REMOVE (LUMINAIRE)				
Bid Rank	Department E	Estimate	246.000	\$250.000	\$61,500.00	
1	•	RUCTION, INC.		\$180.000	\$44,280.00	-28.0%
2	CONTRACTO	DRS WEST, INC.		\$310.000	\$76,260.00	+24.0%
3	MICHIANA C	ONTRACTING, INC.		\$230.000	\$56,580.00	-8.0%
4	WILLIAM CH	ARLES CONSTRUCTION COMPANY, LLC	;	\$143.000	\$35,178.00	-42.8%
5	PowerSecure	, Inc.		\$0.000	\$0.00	-100.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department E	Estimate	1.000	\$345,000.000	\$345,000.00	
1	C S CONSTR	RUCTION, INC.		\$249,695.000	\$249,695.00	-27.6%
2	CONTRACTO	ORS WEST, INC.		\$265,000.000	\$265,000.00	-23.2%
3	MICHIANA C	ONTRACTING, INC.		\$225,990.000	\$225,990.00	-34.5%
4	WILLIAM CH	ARLES CONSTRUCTION COMPANY, LLC	;	\$160,420.000	\$160,420.00	-53.5%
5	PowerSecure	, Inc.		\$0.000	\$0.00	-100.0%
9240015	L.SUM	FORCE ACCOUNT WORK (EXISTING L	IGHTING REPAIR)			
Bid Rank	Department E	Estimate	1.000	\$100,000.000	\$100,000.00	
1	C S CONSTR	RUCTION, INC.		\$100,000.000	\$100,000.00	+0.0%
2		DRS WEST, INC.		\$100,000.000	\$100,000.00	+0.0%
3		ONTRACTING, INC.		\$100,000.000	\$100,000.00	+0.0%
4		ARLES CONSTRUCTION COMPANY, LLC	;	\$100,000.000	\$100,000.00	+0.0%
5	PowerSecure	, Inc.		\$0.000	\$0.00	-100.0%

Printed: 9/23/2025 Page 5 of 5 *** Bid Tabs for Proposal Pamphlet 2025011 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate	
9240119	EACH	MISCELLANEOUS WORK (MODIF	Y EXISTING HIGH MAST	LOWERING RING)			
Bid Rank	Department	t Estimate	93.000	\$1,000.000	\$93,000.00		
1	C S CONS	TRUCTION, INC.		\$2,500.000	\$232,500.00	+150.0%	
2	CONTRAC	TORS WEST, INC.		\$833.000	\$77,469.00	<i>-</i> 16.7%	
3	MICHIANA	CONTRACTING, INC.		\$1,100.000	\$102,300.00	+10.0%	
4	WILLIAM C	HARLES CONSTRUCTION COMPAN	Y, LLC	\$807.350	\$75,083.55	-19.3%	
5	PowerSecu	re, Inc.		\$0.000	\$0.00	-100.0%	